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[: ‘} F(2)0) F‘j( 0) O)\) ('l, 9) (.;‘)
(’01(0; v) 630)0) 5(7)9)

T 'Tacobwh W Very sww(/\
near (0)0)

We call (%) am  almotx linesr System

“The as/sc:Q?A lihear : ystem s
1 TGl @

We cun consider e almost L Systim ()
o pexdiation of He il 9(33% ()

@ Whatr com Hae  linesr S\ﬁs\-wv\ (®) 4w
Us aoot e alwpst \Wer S‘kj?\-um (3 !

Tklw\ The admosty hincan system (3¢) will hane
TV V) dype of ntcal point and
S §+v~\o”\\’u+x, as e (Theayr syStomr ()

UNLESS = A=)y or A=tbi

Lec 6 Page 7



X x'= Y +3Fy -t +3(o7-
U,: X - -2‘9 _ '37(«9
(0)9) 15 a crnwd wownt
J aobion

?__’— [ F (9)0) %(Orb)]

G (v0) Oy (0)0)

= - +o -
Fel..,= 9+0 -2 | =4

rn\wwﬂ = 0 43 +0 4’63 \Lo\o):’-\'
én‘l(o)o) < L =0 = |3'j i(o\o\ = \

Gt"to»n = 0 -2 -3~ \(o’ﬂ - -2

=y
. -
Se Mo associated Dnear S e 1S
['_J (L\ 1\—\[ ] No~k s TS Jus Hae
NS e —FVUW\M
‘j \ e E)névvwk SYS -
Rrd e ugyu\vm\us-.

D= der(T)= 4D - 1(3)=-9-3 =
T=He (I) = Y- = 2

V-2 -1 =0
(A-s)(A+3)=0 A=6 -3

Lec 6 Page 8



A=15,-3
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